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1™ B 44,340,000 38.4 — 44,340,000 38.4
2 7 B 5 M 697,000 0.6 - 697,000 0.6
3 FE XM E 30,000 0.0 — 30,000 0.0
4Bt 5 & X £ 190,000 0.2 — 190,000 0.2
b HAEFRENGERAE 200,000 0.2 — 200,000 0.2
bEANBEHRRMNE 300,000 0.3 — 300,000 0.3
THAHAEHEHRR & 6,900,000 6.0 — 6,900,000 6.0
SRIEMRIRNE 90,000 0.1 — 90,000 0.1
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0 B T 4 # 4,330,000 3.8 — 4,330,000 3.7
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HE X & = 7,554,810 6.5 — 7,554,810 6.5
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2 mk b [MEER] (B : T, %)
X ) # 1IE A #@RKtE M IE AR gt FERKLE
A (a3 & 21,660,810 18.8 1,190 21,668,000 18.7
% ) & 32,556,610 28.2 — 32,556,610 28.2
/N & g 7,512,905 6.5 — 1,512,905 6.5
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) i3 & 20,779,422 18.0 51,810 20,831,232 18.0
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